> A
A & 0l & AF 2 E A A
2H: 230
A BU=TE
& S3o=AM X (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E 30l =t 26,604,865 22,405,653 4,199,212
=2 665,574
Xl 3,250,000
J| 2,863,060
< 2,607,861
Al 17,218,370
Zsto=ds 5,955,760 7,084,240 A 1,128,480
Xl 300,000
J| 963,060
< 502,224
Al 4,190,476
Zstol=dAL X 3,944,740 5,493,110 A 1,548,370
Xl 300,000
< 423,600
Al 3,221,140
ANeg2et0l=X & 9,830 176,810 A 166,980
201 et 4,230 4,230 0
01 At 2teltl 4,230 4,230 0
OZsto=&E HA 10,0002 * 2000H 2,000
O8=+9 M= 70,000& = 201 = 53| 700
Ollz=ad FANEX 2=
20,000& = 2& = 12& 480
OAZ SHBAMET S|
7,000& * 5H » 3 x 102 1,050
202 oddl 3,600 2,880 720
01 = LH &4 1l 3,600 2,880 720
OLE St ==AL FA 0
20,000& = 5H * 3 * 123 3,600
203 YR =&l 2,000 2,000 0
03 AIBFAH S =AY 2,000 2,000 0
OZ2t0 = A =& 2,000,000& 2,000
FF23d Sso=A X 71,000 71,000 0
307 21201 A 71,000 71,000 0
02 LB AAHEX 71,000 71,000 0
OFF=Z23td 2 E A 2=t
71,000,000 = 1002 71,000
HXNSHMAMOUA 50,000 50,000 0
< 25,000
Al 25,000
307 21201 A 50,000 50,000 0
< 25,000
Al 25,000
04 QIZFHALAIH B = 50,000 50,000 0
OFF=H XA HE XA Ol CH&E 50,000,000& 50,000




2H: 230
A BU=TE
& S3o=AM X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 25,000
Al 25,000
X230l = & At 31,600 31,600 0
< 31,600
307 gl2tol & 31,600 31,600 0
< 31,600
04 DIZHHALALSE E X 31,600 31,600 0
OXNLZsH=&HA XN (E=23MINS)
31,600,000& * 13l 31,600
< 31,600
StE M=std JFAUMA 40,000 40,000 0
< 18,000
Al 22,000
307 21201 A 40,000 40,000 0
< 18,000
Al 22,000
04 DIZHHALALSE B X 40,000 40,000 0
ostZI MRSMRt (M A
40,000,000& = 13l 40,000
< 18,000
Al 22,000
HELUSAHE 12,830 13,500 A670
307 21201 A 12,830 13,500 AB70
02 It S AHE L 12,830 13,500 A670
(OFSE=R:INC-Ipr(f=: 12,830,000& * 13l 12,830
RHE HE IREA 40,000 40,000 0
< 20,000
Al 20,000
307 glz2tol & 40,000 40,000 0
< 20,000
Al 20,000
04 DIZHHALALSE E X 40,000 40,000 0
ORE HEISFM 40,000,000& = 13l 40,000
< 20,000
Al 20,000
E=0=H 150,000 150,000 0
307 21201 A 150,000 150,000 0
04 QIZFHALAIH E = 150,000 150,000 0
oOFF0=H 150,000,000& * 13l 150,000
8t 23tz s At 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIR B = 10,000 10,000 0
O8=EsMznR 10,000,000& * 13l 10,000




2N 230z
A BU=TE
el ZStoll=HAL X (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ESSUS0==H FFA H&EU 3 4,000 4,000 0
307 gl2tol & 4,000 4,000 0
04 DIZFSHAIAIRI 2 = 4,000 4,000 0
OS=USMH==H F=AULTHS
4,000,000& = 13l 4,000
FF0z=! o= g 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
OFFM=! sl & 6,000,000& = 13l 6,000
FRAQM=o A& 4,000 4,000 0
307 gl2tol & 4,000 4,000 0
04 DIZHHALALSE E X 4,000 4,000 0
OFFHolM=4a Al 4,000,000& = 13l 4,000
HIAESE2A 18,000 0 18,000
307 glz2+0ol & 18,000 0 18,000
04 QIZFHALAIH E = 18,000 0 18,000
(OFSEPN PR R Rs 18,000,000& * 12l 18,000
=34 25,500 25,500 0
307 21201 A 25,500 25,500 0
04 QIZFHALAIH B = 25,500 25,500 0
Ofx==3H 25,500,000& = 13l 25,500
HFIIM 8,500 8,500 0
307 21201 A 8,500 8,500 0
04 DIZHHALALSE E X 8,500 8,500 0
O&HEFIIH 8,500,000& = 13l 8,500
St A3 3,500 3,500 0
307 glz2tol & 3,500 3,500 0
04 DI2ZHHALALSE E X 3,500 3,500 0
OstdsAZAUS 3,500,000& = 13l 3,500
AEOl 2= JIES23 3,500 3,500 0
307 glz2+ol & 3,500 3,500 0
04 QIZFHALAIH E = 3,500 3,500 0
OAE0l ZIl= JHES2e
3,500,000& = 13l 3,500
EFA S HEESESHH 7,000 7,000 0
307 glz2tol & 7,000 7,000 0
04 DIZHHALALSE E X 7,000 7,000 0
OF=ASHEHLSHH 7,000,000& = 13l 7,000




2N 230z
A BU=TE
& S3o=AM X (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
22 Xl 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
04 DI2ZHHALALSE E X 2,000 2,000 0
oOLEH 2,000,000& = 13l 2,000
HFA ASEZ Al AR S2H 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
04 DI2HHALAISE E X 4,000 4,000 0
OFFANAZTZANARNS2H
4,000,000& = 13l 4,000
S Xl 2,500 2,500 0
307 gl2tol & 2,500 2,500 0
04 DIZHHALALSE E X 2,500 2,500 0
OH2H 2,500,000& = 13l 2,500
2083 33 H5H 2,400 2,400 0
307 glz2+0ol & 2,400 2,400 0
04 QIZFHALAIH E = 2,400 2,400 0
O=20 &3 IFAEFH ¥ 2L H
2,400,000& = 13l 2,400
280 =FZH & EES 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
04 DIZHHALALSE E X 4,000 4,000 0
o2 ZHUN U E23|
4,000,000& = 13l 4,000
ARSI S NGt 2sHe & 8,500 8,500 0
307 21201 A 8,500 8,500 0
04 DIZHHALALSE E X 8,500 8,500 0
OAl2I & Mote 28 &
8,500,000& = 13l 8,500
Fx=0=8s sA 8,500 8,500 0
307 21201 A 8,500 8,500 0
04 QIZFHALAIR B = 8,500 8,500 0
OF=0l=8g3a slad 8,500,000& = 13l 8,500
fE gMots EH 8,500 8,500 0
307 gl2tol & 8,500 8,500 0
04 DIZHHALALSE E X 8,500 8,500 0
o221 Ndte AN 8,500,000& = 13l 8,500
EFEIREZAUS 16,150 17,000 A 850
307 glz2tol & 16,150 17,000 A 850




2N 230z
A BU=TE
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DIZFSHALAIRI 2 = 16, 150 17,000 ~850
OFFHIZREZAHUI 16,150,000 * 13 16,150
YHAAIAHUS20HA 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
OYHITHEMUSZAE  8,000,000& * 12 8,000
YL S 20 A 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHH A AL 2 X 20,000 20,000 0
OYLHZ HE ZUHHA 20,000,000& = 13l 20,000
OtE&E= 2017 13,000 13,000 0
307 gl2tol & 13,000 13,000 0
04 DIZHHALALSE E X 13,000 13,000 0
OO0EH= 2017 13,000,000& * 13l 13,000
SHESH=DIAML(H2) 5,500 5,500 0
307 g1zl & 5,500 5,500 0
04 QIZFBHAIAIRI 2 = 5,500 5,500 0
O=HMIZaU=LIAL (H=2H)
5,500,000& = 13l 5,500
FFAXN! dAIFIFAUMA 8,500 8,500 0
307 glz2tol & 8,500 8,500 0
04 DI2HHALALSE E X 8,500 8,500 0
OFF=HRX MIZAMUMA 8,500,000& = 13 8,500
St-OtAIOF 2 MI2stM=n=F 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH E &= 10,000 10,000 0
OFB-0tAIOF 2 M2tz R
10,000,000& * 13l 10,000
F=OE0=A 45,600 48,000 A 2,400
307 glz2tol & 45,600 48,000 A 2,400
04 DI2HHALALSE E X 45,600 48,000 A 2,400
OFFUFM=AM 45,600,000& * 13l 45,600
Ol=%3 J18d 3,600 3,600 0
307 glz2+ol & 3,600 3,600 0
04 QIZFHALAIH B = 3,600 3,600 0
oll=xs JI&8d 3,600,000& = 13l 3,600
2 Ac2E 4,000 4,000 0
307 21201 A 4,000 4,000 0




2x: 280z
HH: S3l=srE
oS4 2Su=HAMN XA
SA-EY .S (BH) - NEANY - BES 0 4t 04 il
04 DIZFSHALAIRI 2 = 4,000 4,000
o% Acl=s¥d 4,000,000& * 13 4,000
ANEEEEAZ 4,000 4,000
307 QI2t01 & 4,000 4,000
04 QIZF AL A2 X 4,000 4,000
OAIEI & Z A Al S 4,000,000& * 13 4,000
DESABME 4,000 4,000
307 QI2t0| ™ 4,000 4,000
04 DIZHH A AL 2 X 4,000 4,000
OLQUEFESLEZANE 4,000,000& * 13 4,000
S=aH& 4,000 4,000
307 212t01 & 4,000 4,000
04 QIZHSHAFAIRHE 2 X 4,000 4,000
OZSHHE 4,000,000& * 13 4,000
A SH0F2HAEI 0] 5,000 5,000
307 212t01 & 5,000 5,000
04 QIZHSHAFAIE 2 X 5,000 5,000
O 3totatd ol 5,000,000& =* 13 5,000
HFOE360LY 4,000 4,000
307 QI2t0| ™ 4,000 4,000
04 QI2SHALAIE E = 4,000 4,000
OFFUFIZS0Y 4,000,000& * 13 4,000
A S A A} 4,000 4,000
307 QI2t0| ™ 4,000 4,000
04 DIZHSHAFAIRE 2 X 4,000 4,000
OFESHAM AL 4,000,000& * 13 4,000
HZ=0FM=2U3 3,000 3,000
307 212t01 & 3,000 3,000
04 QIZHSHAFAIHE 2 X 3,000 3,000
OFFUFUH=2UI 3,000,000& * 13 3,000
3652 MAIBAHO EXle S =AY 39,000 39,000
307 212t01 & 39,000 39,000
04 QIZFSHALAIE B2 X 39,000 39,000
0365 MABAHO HXles 2= A =4
39,000,000& 39,000
HFEAUSAF 30,000 30,000
307 212t01 & 30,000 30,000




2N 230z
A BU=TE
Hel: 2E0=SAMN XA
SA - ZE-B(EA) - NRAY - B S il &t o il
04 DIZFSHALAIRI 2 = 30,000 30,000
OF=AR S 30,000,000& * 13l 30,000
S=2EAYE US0=H &0t 6,000 6,000
307 glz2tol & 6,000 6,000
04 QIZFHALAIH B = 6,000 6,000
OZ=EAHUEM=M &t
6,000,000& = 13l 6,000
E=2US0==sd &t 6,000 6,000
307 glz2tol & 6,000 6,000
04 QIZFHALAIH E = 6,000 6,000
Os=lxsMs=d &0t 6,000,000 = 13l 6,000
S=2H3H &t 4,000 4,000
307 21201 A 4,000 4,000
04 DIZFSHAIAIRI 2 = 4,000 4,000
O=s=d=H &It 4,000,000& = 13l 4,000
d=HI3H FIt 3,000 3,000
307 21201 A 3,000 3,000
04 DIZHHALALSE E X 3,000 3,000
O&=H=H &It 3,000,000& = 13l 3,000
d=2EHMH &It 3,000 3,000
307 glz2tol & 3,000 3,000
04 DI2HHALALSE E X 3,000 3,000
Od==EH &It 3,000,000& = 13l 3,000
FAEweretth A =3 3,000 3,000
307 glz2tol & 3,000 3,000
04 QIZFHALAIH E &= 3,000 3,000
oZisdnEAH FHIlexs
3,000,000& = 13l 3,000
Jt=21 otelote & 3,000 3,000
307 glz2tol & 3,000 3,000
04 DI2HHALALSE E X 3,000 3,000
OJt=1t otelotel & 3,000,000& = 13l 3,000
At 3| A 3,000 3,000
307 glz2+ol & 3,000 3,000
04 QIZFHALAIH B = 3,000 3,000
OAtH3 & 3,000,000& = 13l 3,000
PHNEE A 3,000 3,000
307 21201 A 3,000 3,000




2N
X ZH -
L= B

el

M0 MO MO

stol=
stl=d s
Stol= A X1 &

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DI2HHALALSE E X 3,000 3,000 0
OR&ANES 3IAA 3,000,000& = 13l 3,000
HdIAZZEHUS 9,000 9,000 0
307 glz2tol & 9,000 9,000 0
04 QIZFHALAIH B = 9,000 9,000 0
OdIA=ZEHUS 9,000,000& 9,000
HE MSHEAZ 3,000 3,000 0
307 giz2tol & 3,000 3,000 0
04 QIZFHALAIH B & 3,000 3,000 0
O&HE Mdst&E A3 3,000,000& = 13l 3,000
lrSss 32,000 32,000 0
307 gl2tol & 32,000 32,000 0
04 DIZHHALALSE E X 32,000 32,000 0
OJtssS«3 32,000,000& * 13l 32,000
842 E44E SAZ22 51,300 54,000 A2,700
= 10,000
Al 41,300
307 glz2+ol & 51,300 54,000 AN2,700
= 10,000
Al 41,300
04 QIZFHALAIH E = 51,300 54,000 A2,700
OMIFLHSUAZSE 51,300,000& = 13l 51,300
< 10,000
Al 41,300
HHEsM=HA 21,380 22,500 21,120
307 21201 A 21,380 22,500 21,120
04 QIZFHALAIH B = 21,380 22,500 21,120
OHtMEZsto=H & 21,380,000& = 13l 21,380
SH s 1= 13,000 13,000 0
307 21201 A 13,000 13,000 0
04 DIZHHALALSE E X 13,000 13,000 0
OsdY & 1 = 13,000,000& * 13l 13,000
ARSI 8 Mot JtEsS2sl 31,000 31,000 0
307 g1zl & 31,000 31,000 0
04 DIZHHALALSE E X 31,000 31,000 0
OAlCI &Mdte JI238<23l
31,000,000& * 13l 31,000
245 ZoUl=&A 116,200 164,200 A 48,000
201 £B-2dH| 7,200 7,200 0




25 230z
HzM: S sIE
e S3d=8EAI X (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 7,200 7,200 0
O= g9RE1D = AHH| 7,200
OFQLYRAHE BN M
10,000€ * 808 800
OANXEAHE BN M 15,0008 » 605 900
OHBAIRSZAI BN HE
15,0008 = 80% 1,200
OANAUZ BEOM HZ 15,000& * 608 900
OZBLAISEANBIIARS EDAM M
15,000& = 808 = 23| 2,400
O=2He(2eHs2E=2)
50,000& = 208 1,000
203 €2 F&d| 19,000 7,000 12,000
03 AIEH =& 2 F XY 19,000 7,000 12,000
OSRHE2ZE=2 SSlM=sAI =&
9,000,000& 9,000
OXNE &3t = 22 =X 10,000,000& 10,000
307 2I2t0| & 90,000 150,000 A 60,000
04 SIZ2ISHAAISH E X 90,000 150,000 A 60,000
O2L=E 230l =& At 90,000,000 90,000
SEHAEY 40,500 40,500 0
307 2Iz2t0| & 40,500 40,500 0
04 SIZ2ISHAAISH E & 40,500 40,500 0
OFEMHAEY 40,500,000& * 13l 40,500
HESH22TXINE AXS23 80,000 80,000 0
307 giztol & 80,000 80,000 0
04 OIZ2tSHALALS B X 80,000 80,000 0
OBESHIFIIY HXSYS
80,000,000 * 13| 80,000
22llUs BN 2Z2AME 10,000 10,000 0
307 2iz2tol & 10,000 10,000 0
04 QIZ2tSHAFAFS B X 10,000 10,000 0
oiclls B8 Z2ME 10,000,000 = 13| 10,000
HF0l2l g 223 AU S 8,500 8,500 0
307 giztol A 8,500 8,500 0]
04 CIZ2tSHALALS B = 8,500 8,500 0
OFFO0tclY =224HAMUSE  8,500,000& * 13 8,500
HESHIEX 280,000 280,000 0
307 2I2t0| ™ 280,000 280,000 0
04 CIZ2tSHALALS B X 280,000 280,000 0




2N 230z
A BU=TE
el ZStoll=HAL X (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFFSH2EX 280,000,000& * 13| 280,000
ool 2stlll=2 49,000 50,000 A 1,000
307 glz2+ol & 49,000 50,000 21,000
04 QIZFHALAIH B = 49,000 50,000 A 1,000
Ox0l= 2u=39 49,000,000 49,000
tEs2 M 13,000 13,000 0
307 21201 A 13,000 13,000 0
04 QIZFHALAIR B = 13,000 13,000 0
oOtsE 2sHl 13,000,000& * 13l 13,000
ool A 35,100 35,100 0
307 2201 A 35,100 35,100 0
04 DIZHHALALSE E X 35,100 35,100 0
ootolE=d 35,100,000& * 13l 35,100
HYAA ECISA 40,000 20,000 20,000
307 glz2tol & 40,000 20,000 20,000
04 QIZFHALAIH E = 40,000 20,000 20,000
OHLAHAl EclHA 20,000,000 = 200 A 40,000
EF= d30E0 g23ANS 28,500 30,000 A 1,500
307 21201 A 28,500 30,000 A 1,500
04 QIZFHALAIH B = 28,500 30,000 A 1,500
Od=a0e0l SEFHU=
28,500,000& * 13l 28,500
FEEFANMU =CHHIH 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
OF=MNOJIHES =MHA 5,000,000& * 13 5,000
EFHFEISA 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 QIZFHALAIH B = 3,000 3,000 0
OFFOUFE &I d 3,000,000& = 13l 3,000
St FH4SAH 60,000 60,000 0
< 30,000
Al 30,000
307 21201 A 60,000 60,000 0
< 30,000
Al 30,000
04 DIZHHALALSE 2 X 60,000 60,000 0
OFZwstg RAHSANM 60,000,000& * 13l 60,000
< 30,000




2N 230z
A BU=TE
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| Al 30,000
HwE=0l 40,000 40,000 0
307 gl2+0l 40,000 40,000 0
04 BIZHHALAIH 2 & 40,000 40,000 0
OHE =0l 40,000,000& * 13l 40,000
FaE AESS 22 30,000 30,000 0
307 g12+0l 30,000 30,000 0
04 QIZFHALAIH 2 = 30,000 30,000 0
OFAE HESYH 22 30,000,000& = 13l 30,000
st MO n®A 9,000 9,000 0
307 @12+0l 9,000 9,000 0
02 QIZtE M AHEE 9,000 9,000 0
OstEMilRTA 9,000,000& = 13l 9,000
dS=23 ME0re 4,500 4,500 0
307 @12+0| 4,500 4,500 0
02 BIZFA MM E X 4,500 4,500 0
OdEZs MEore 4,500,000& = 13l 4,500
FEEF ZEZBIIRII 24,000 24,000 0
307 g12+0| 24,000 24,000 0
02 RIZHE M AMAE X 24,000 24,000 0
OFEHF EEFIIRI  24,000,000& * 13 24,000
SES A3 98,000 0 98,000
307 g12+0l 98,000 0 98,000
04 QIZFHALAIH E = 98,000 0 98,000
osdsSsl 98,000,000& = 13l 98,000
NE sz 4,500 4,500 0
307 g12+0l 4,500 4,500 0
02 YAFAAFEX 4,500 4,500 0
oONs B d 4,500,000& = 13l 4,500
SIS ALME T 2 4,500 4,500 0
307 @12+0l 4,500 4,500 0
02 BIZHA MM E X 4,500 4,500 0
Od IS M AL S 4,500,000& = 13l 4,500
20177 AN =N A L M A 49,500 49,500 0
307 g12+0| 49,500 49,500 0
04 RIZFHALALH 2 = 49,500 49,500 0
OFIMUE=EN S3HAAM 49,500,000& 49,500




2N 230z
A BU=TE
& S3o=AM X
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
X2t (e )8 ALE 2 64,000 65,000
307 gl2tol & 64,000 65,000
04 DI2ZHHALALSE E X 64,000 65,000
OXNA 23 (stE)#HAFT 64,000,000& 64,000
d2 =228 0=d 8,500 8,500
307 glz2tol & 8,500 8,500
04 QIZFHALALH 2 = 8,500 8,500
oz 2= 0l=d 8,500,000 = 13l 8,500
=3l HAL Al S3 7,000 7,000
307 21201 A 7,000 7,000
04 QIZFHALAIH B = 7,000 7,000
O=3l YAt AIES3 7,000,000& = 13l 7,000
sER0E=3 2 &N 34,000 34,000
< 9,000
Al 25,000
307 21201 A 34,000 34,000
= 9,000
Al 25,000
02 It S AHE L 34,000 34,000
O=sE=2==0tg=3 2&X  34,000,000& * 13 34,000
< 9,000
Al 25,000
SEs523 20,000 20,000
307 glz2tol & 20,000 20,000
04 DIZHHALALSE E X 20,000 20,000
O0s+=823l 20,000,000& * 13l 20,000
=2 sS4 HHA 15,000 15,000
307 glz2+ol & 15,000 15,000
04 QIZFHALAIH B = 15,000 15,000
o= AL AHuA 15,000,000& * 12l 15,000
SESMNMUUHA 4,000 4,000
307 21201 A 4,000 4,000
04 QIZFHALAIH B = 4,000 4,000
OSHSMHMUA 4,000,000& = 13l 4,000
B3N EUolsd 20,000 20,000
< 10,000
Al 10,000
307 glz2tol & 20,000 20,000
< 10,000
Al 10,000




2H: 230
A BU=TE
& S3o=AM X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 20,000 20,000 0
OFF=HeUO=A 20,000,000& * 13 20,000
= 10,000
Al 10,000
NHZBAZAIZE 23t0=0F 4,000 4,000 0
307 glz2+ol & 4,000 4,000 0
04 QIZFHALAIH B = 4,000 4,000 0
OXMZBAHAZAl 2t 2301 F 4,000,000 4,000
EFllzna2dy 8,500 8,500 0
307 21201 A 8,500 8,500 0
04 DIZHHALALSE E X 8,500 8,500 0
OFFznAERY 8,500,000& = 13l 8,500
BF=-TECAl JUHEAIZ 230snZ 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
O F-XEcAl JHUMHEAIZ 230=LF
10,000, 000& 10,000
ARID ot =33 29,450 31,000 A 1,550
307 21201 A 29,450 31,000 A 1,550
04 DIZHHALALSE E X 29,450 31,000 A 1,550
OAI2I Mot dESAS
29,450,000& = 13l 29,450
Ot Sst=gs YL33 48,000 48,000 0
307 21201 A 48,000 48,000 0
04 QIZFHALAIH B & 48,000 48,000 0
OO0t Esttlz=gs ¢L=2=3
48,000,000 = 13l 48,000
24 HAUSEEZSA 35,000 35,000 0
< 20,000
Al 15,000
307 21201 A 35,000 35,000 0
< 20,000
Al 15,000
04 QIZFHALAIH B = 35,000 35,000 0
ORI 7SEZHA 35,000,000& * 13l 35,000
< 20,000
Al 15,000
FFU=2HctY 2H XA 50,000 55,000 A5,000
< 25,000
Al 25,000
307 21201 A 50,000 55,000 A5,000
= 25,000




2H: 230
A BU=TE
& S3o=AM X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 25,000
04 QIZFHALAIH E = 50,000 55,000 A5,000
OFFH=22H 2t 2H et X2
50,000,000 = 13l 50,000
< 25,000
Al 25,000
ctEEM2H et 2H et 50,000 0 50,000
< 25,000
Al 25,000
307 glz2tol & 50,000 0 50,000
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ORFHESR >+2 (2 MEX)
130,000& = 29 » 12 3,120
OROHHEY 5 (2YHs AMSIIE2)
230,000& * 20 A  12& 5,520
OROIAHBY 222 (MSFEA)
90,000& = 12& 1,080
OZS MR OHEAAE 22| 1,800
OMEANAEY 22| =2 150,000& » 128 1,800
02 =24l 117,401 122,617 25,216
O=23REX &HMIIZ 52,980
Oateatyd 500,000& = 12& 6,000
O=23&HM X 1,800,000& * 12& 21,600




2N 230z
HH: HER BE U ML
el MESE3 AL XA
SA - ZE-B(EA) - NRAY - B S il &t o il
O&Y3 KA Xl 720,000& = 12& 8,640
Od S MY 720,000& = 123 8,640
Ogts+=w=X 90,000&  12& 1,080
OEE2 35,000& = 123 420
og=d 300,000& = 12& 3,600
O0l&sot= 100,000& » 12& 1,200
O¥F=S4 Of2tx™H 50,000& = 12& 600
Oosgsaot 100,000& » 12& 1,200
ORAdLEs =43F  200,0008 * 128 * 4L 9,600
O8%s 20 AL SH=
50,000& = 12& 600
oMLY RSSIHEXE SHz
30,0003 = 2CH = 12& 720
OLET ASH Motk R
30,000& = 12& 360
O8Es 20 A3H &3
30,000& = 12& 360
OZsHAIE A2l 22,081
O2REX (AH 2 4H42)
1,363& * 104 * 100 = 5o 6,815
O=23t=&X 0l F 2l
1,363& = 1004 » 100 13,630
O222MH X 2EHOl = XIHl
1,363& » 1,2004 1,636
O=Za2HX A& EHI KL
5,000,000& 50 A& 25,000
OXNZEEZaM LIHAAHEH SME
475,000& = 12& 5,700
202 oddl 1,200 1,200
01 = LH 4 4l 1,200 1,200
O=2IMEE =Z0WH|
20,000 = 2% * 3 * 103l 1,200
206 M= Hl 4,500 4,500
01 =8l 4,500 4,500
O=st=HX 228 s+
25,0003 = 50 * 23| 2,500
O=s=AA 228 H=z2Y
10,0003 = 2& * 50X * 23| 2,000
301 LEtE LS 13,200 13,200
11IIEEAS 13,200 13,200
O23MAZ0l 2&=
5,000& * 8 » 20 * 128 9,600
ORFMES JSHAE B4 (2 MA)
20,0003 = 2% = 43| » 128 1,920




2N 230z
B NESS 2E U M
el ME2s #A AW (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFAHIIEE Lol 2H =S8l
70,0003 * 243| 1,680
308 XX EHSOIA 6,000 6,000 0
07 IXNHMARE = 6,000 6,000 0
O2tMESIZ H=2 60,000,000& = 10% 6,000
XA S==Hl 1,000 1,000 0
307 glz2tol & 1,000 1,000 0
04 QIZFHALAIH E = 1,000 1,000 0
ONH& S==H At 1,000,000 = 13l 1,000
F=gn AMUH 9,000 10,000 A 1,000
307 21201 A 9,000 10,000 A 1,000
04 QIZFHALAIH B & 9,000 10,000 A 1,000
OFFe WA M 4,500,000& = 23| 9,000
BEss8d 4,000 3,000 1,000
307 21201 A 4,000 3,000 1,000
04 BIZHH AT AL 2 = 4,000 3,000 1,000
OFFs4=¢ 4,000,000& = 13l 4,000
dgn JzZ2d 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 DIZFSHAIAI 2 = 8,000 8,000 0
QJl2H A 8,000,000& = 13l 8,000
472 RE3 T8y A 18,000 20,000 A 2,000
307 glz2+ol & 18,000 20,000 A2,000
02 QAFHAANGEEE 18,000 0 18,000
oo 2 18,000, 000& 18,000
MOl &tE A 13,500 15,000 A 1,500
307 21201 A 13,500 15,000 A 1,500
02 B AAHEX 13,500 0 13,500
OAMUletE WA 13,500, 000& 13,500
SHSSHE 18,000 20,000 A 2,000
307 gl2tol & 18,000 20,000 A 2,000
02 IZtE S AHE L 18,000 0 18,000
odHlesNE2d 1,800,000& * 103l 18,000
SSuA 9,000 10,000 A1,000
307 glz2tol & 9,000 10,000 A 1,000
02 It MNAMHEE 9,000 0 9,000
Ossua 24 4,500,000& * 23| 9,000




2N

JM: MNS2st BEE
Sl MESE BA o E)
SA - BB B (BA) - MM - BHES il 2
g3 9,000 10,000 A 1,000
307 gl2tol & 9,000 10,000 A 1,000
04 BI2HeH At 9,000 10,000 A 1,000
og4d 9,000,000& = 13l 9,000
Alb=E witA 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
02 RI2HE & 3,000 0 3,000
O4llt= it 1,000,000 = 33l 3,000
ToE d=23AM 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 212t AL 7,000 7,000 0
O X0 &2 7,000,000& = 13l 7,000
298w JlzdA 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 212t AL 4,000 4,000 0
Oz g 4,000,000& = 13l 4,000
22w AU 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
o298 2,500,000 =+ 23l 5,000
=ognw £oud 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
02 21zt &t 4,000 0 4,000
o292 &u 4,000,000 = 14l 4,000
ZXHZS &3 27,000 23,000 4,000
307 21201 A 27,000 23,000 4,000
04 212t ALAL 27,000 23,000 4,000
O==xt
27,000,000& * 13l 27,000
CEH3E us 15,000 15,000 0
< 3,000
Al 12,000
307 glz2+ol & 15,000 15,000 0
< 3,000
Al 12,000
02 HAFHAANGEEX 15,000 15,000 0
okg4ds= WsNd 15,000
OFE23=13m| 9,000,000& 9,000

H

1,800




2N 230z
Y HES 2Z U B
& 823 AL XH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 7,200
O229sn 6,000,000& 6,000
< 1,200
Al 4,800
s =3 1A 18,000 0 18,000
307 glz2tol & 18,000 0 18,000
04 QIZFHALAIH B = 18,000 0 18,000
Os& s=U3 18,000,000& * 13l 18,000
oy &4 16,151,021 8,306,300 7,844,721
Xl 2,950,000
J| 1,900,000
< 1,111,250
Al 10,189,771
FotMEEH 20,000 0 20,000
OICIHEE 9 ZSE /& 00HRs AY 20,000 0 20,000
307 21201 A 20,000 0 20,000
02 LB AANFEX 20,000 0 20,000
O DitinEE 9 ZstE e 0IUHBS At
DA 20,000,000& 20,000
F3IIE NS &= 7,982,021 2,050,000 5,932,021
Xl 1,900,000
J| 1,900,000
< 600,000
Al 3,582,021
A2 SHE 243 X 15,000 15,000 0
402 RI2EX20l A 15,000 15,000 0
01 U2 EALE X (KA R) 15,000 15,000 0
OLALBAFHHI (AIEINA )X
15,000, 000& 15,000
st2 ¥ Setit Hotm 2 24 3,800,000 680,000 3,120,000
J| 1,900,000
< 600,000
Al 1,300,000
401 Al HIZ 201 Y] 3,800,000 680,000 3,120,000
J| 1,900,000
< 600,000
Al 1,300,000
01 A& HI 3,640,000 659,476 2,980,524
Ost®¥E Setit HoHIIE 28 ALY
3,640,000, 000& 3,640,000
J| 1,820,000
< 576,000
Al 1,244,000
02 2feldl 150,000 3,604 146,396




2N 230z
M 254 84
©9l 2aOIE Al 25 (29l 8)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Ost®2¥E Setit HOoHIIE 28 ALY
150,000, 000& 150,000
| 75,000
< 22,500
Al 52,500
03 A& 2 THHI 10,000 16,920 AN6,920
Ost®¥E Setit HoHII R 28 ALY
10,000, 000& 10,000
| 5,000
< 1,500
Al 3,500
Z8tll=s HRLIE 22t 29 150,000 0 150,000
308 XXM S0 A 150,000 0 150,000
1037/ 2SoHUHe A ALS I 150,000 0 150,000
SR N3MES 23 150,000, 000& 150,000
ME=EY BHUHE ZEALY 176,000 0 176,000
401 Al Bl 28I 176,000 0 176,000
01 A& HI 176,000 0 176,000
OM=Y HRHE =4 JI2HE 8 29
176,000, 000& 176,000
AT, HASAE ST ALY (ME) 3,800,000 0 3,800,000
Xl 1,900,000
Al 1,900,000
308 XXM S0 A 500,000 0 500,000
Xl 250,000
Al 250,000
1037/ 2SOHUHS A HALS I 500,000 0 500,000
OSF&16,88 FHAHLZH ALY
500,000, 000& 500,000
X 250,000
Al 250,000
401 Al&HI & 28I 3,300,000 0 3,300,000
Xl 1,650,000
Al 1,650,000
01 A& HI 3,250,000 0 3,250,000
OS2&16,858 cI2LHIM(AF, &I, S
g) 3,250,000, 000& 3,250,000
Xl 1,625,000
Al 1,625,000
02 Zeltl 39,000 0 39,000
O==216,85 cl2AS I3 A 22l
3,250,000,000& * 1.2% 39,000
Xl 19,500
Al 19,500
03 Al =2 THHI 11,000 0 11,000




2N
X ZH -
L= B

el

e

HO MO Mo
tol toi ton

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OS2 &16,858 c|LLAI AL AIERUHYI
11,000,000& 11,000
Xl 5,500
Al 5,500
- A ZHAL 2tel 11,021 0 11,021
201 £B-2%H| 11,021 0 11,021
01 At 22l 1,800 0 1,800
OF AZEZAL R1AH 249
150,000& * 12&8 1,800
02 =24l 9,221 0 9,221
03323 % HA 8,285
OF ANEEA HIIea & dot=ER=3
430,000& = 12& 5,160
OF ANEEA TAILA AZH|
930& * 2m * 16AIZF = 1052 3,125
O A& ZEHl =X bl 4,608& = 203m’ 936
ool Hel 82 &X 30,000 0 30,000
401 AIEHI L 201 30,000 0 30,000
01 A& Bl 30,000 0 30,000
©eIMel AHel =88 £X
30,000,000& * 1A 30,000
EFFHESAYEI =48 & 29 3,361,500 2,453,300 908,200
EFEFHUIHHI 29 329,500 2,453,300 22,123,800
207 A O] 9,500 17,000 AT,500
01 23 39H| 9,500 17,000 A7,500
OFFANZSAHIUETHH LB 24
9,500,000& * 14 9,500
401 Al HIZ 201 8] 320,000 103,300 216,700
01 A& HI 320,000 103,300 216,700
OBFHUSHMACT SAYLTA(3R)
320,000,000& * 14 320,000
EFASSIMSTINEHE EH3 3,032,000 0 3,032,000
306 ¢ 2 3,032,000 0 3,032,000
01 &3 3,032,000 0 3,032,000
OBFANSFMLTETS &3
3,032,000, 000& 3,032,000
SH2sts4d 4,787,500 850,000 3,937,500
Xl 1,050,000
< 511,250
Al 3,226,250
=2 M3ob A HA =& 4,200,000 300,000 3,900,000
Xl 900,000
< 500,000




Sstol =
2ot 24
S 2sts4 (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
Al 2,800,000
307 2iz2to| A 4,200,000 300,000 3,900,000
Xl 900,000
= 500,000
Al 2,800,000
02 QIZ2IAAAIE E X 4,200,000 300,000 3,900,000
O0178F=2H 0Ly A =&
4,200,000,000& 4,200,000
Xl 900,000
& 500,000
Al 2,800,000
St=202 29 400,000 350,000 50,000
307 2Iz2to| & 400,000 350,000 50,000
05 QIZ2tR E 2 400,000 350,000 50,000
OFFANAZTU B 2P F |
400,000,000 400,000
20 CIRQI & ZTHE XA 187,500 0 187,500
Xl 150,000
== 11,250
Al 26,250
402 BI2H X 20| M 187,500 0 187,500
Xl 150,000
= 11,250
Al 26,250
02 QIZEXIE A EX (0| XM THL) 187,500 0 187,500
OZ20CIAQIEEIHE A 187,500,000 187,500
Xl 150,000
= 11,250
Al 26,250
M AAY (230 =) 66,844 49,244 17,600
24| 66,844 49,244 17,600
=34l 66,844 49,244 17,600
201 LBt 28,064 24,464 3,600
01 AP 22| H| 28,064 24,464 3,600
OJlsgesdisasHdY (JI=24l)
8,000,000& 8,000
o2l (J1=4Hl|) 8,064,000 8,064
SR 12,000
O Ad| 60,0008 = 200! 12,000
202 044 17,280 17,280 0
01 2Ll 17,280 17,280 0
OJ|=Z& | 17,280,000& 17,280
203 €2 F=&d| 7,500 7,500 0




25 230z
HM: M2 AH| (230 =)
& 123l (chel & 9l)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
01 JI22HEYRFAH| 3,300 3,300 0
OJI=H(42) 3,300,000 3,300
04 EANSILR2F=XH| 4,200 4,200 0
©J| =M (30210]56t) 350,000& = 12€ 4,200
405 XHA&HF S HI 14,000 0 14,000
01 XA 2 ZF S| 14,000 0 14,000
oA 2 13,000,000 = 1CH 13,000
OS2 MAMED 2 1,000,000& = 104 1,000




